


P i g

ﬁ
)

h
(-*
C
P
e
l's
%
o
P

e o
% _
§
%




|
=

f R % UJO f)om Su F’w fro 'bérich(,}om
LS : o
| Dowedsd : /Po)ftt n cbb O e ?‘7'( Sored

/“PYQECC»OA i/’nﬁf{'ﬁ'\\i’,?’ J Jf] ?OJf“C solo Una P(/f SoNne; Y

Cbolgef*w@?? la ‘Drop\”ec{'ac} (C«C&'&OMQ 30n  Bug czccioM!'lG/, ]

v ‘ . ] . . . :
S S bl pobletymsscall]

| A :
f 1Ly " )i 1‘“," d




\9wno/ ;L%J& m lwéw,% Maliov 19 /q/ How B
; ?“%{1 o& A—W‘M e R
Moy olbinenily d - diribuscion

y zmi?u% Loy
119]
) ‘U@‘“*‘
T 4peszvm AL awfuowJ & 5000  cndes
wne  dunedy U o i Gw/wf“ A camm',m
2 G Lol wm A plden “’iMﬁ’W’c&
. wliidacte]
0
g e
% cual 1@
T;zmz 2 gaam) o Ao
:f, W /lel C,O% W-cuf«j Jéa/ W\’\ PQ\
£ WD Malll  Jw M i rado Joe@ .
—5 |
=)
%
—="



] !'~ )‘\% b()(t(}] tﬁ)/ ij}(} KIQCL ! :
YL | :
X = 230,000 | 5 > 44 000. — :

?}. .

X = 450,000 X 3,(3% = 16, 335 |2 > 3| 0} 50 :

| e | g

=

=

2

:m 000 + 35000 = 113,000 | ;?

B

X = 113000 X 63 / > 1o, 140 /;z =334 20 -

L
o) ;




Qe Tyl Miclicoy palion
?‘:‘\‘: g e I i

4) 2 [l}“l ]‘2/94”3

L Lo '
| | 3Ol ! | 2 NS s a £
’ ‘ it L] 1, ( ¢ 11 AR ‘;.l X
A |k R ’
o dd Mant ol
KXY Yhaapes, | |
]

y |

|
i

X =151, 150 |13 > 40, 5t ok Kbl |



